

Name: _____

Our Essential Whitikahu School Items	Cost	No. Required	TOTAL
Whitikahu School Sunhat	\$20.00		\$20.00
Bus Vest (bus students)	\$10.00		\$10.00
		Subtotal	
Room 2 Stationery Items			
My Everyday Book 1	\$3.00	2	\$6.00
1A5 (UB)	\$1.40	1	\$4.20
My Maths Book 1	\$3.00	1	\$3.00
Warwick BWB Beginners Writing Book	\$1.00	1	\$1.00
My Literacy Book 1	\$3.00	1	\$3.00
Glue Stick	\$3.00	4	\$12.00
Pencils - Faber Castell Triangular Pencil Junior Dot Grip	\$1.20	6	\$7.20
Jumbo Faber Castell Colouring Pencils	\$12.00	1	\$12.00
Book Bag	\$5.00	1	\$5.00
Sharpie Fine Black	\$3.00	1	\$3.00
PR1ME Textbook	\$25.00	1	\$25.00
Headphone (BYO)			
		Subtotal	\$78.60
		TOTAL	\$



Name:	
name:	

Our Essential Whitikahu School Items	Cost	No. Required	TOTAL
Whitikahu School Sunhat	\$20.00		\$20.00
Bus Vest (bus students)	\$10.00		\$10.00
		Subtotal	\$
Room 3 Stationery Items			
Big Book	\$3.00	3	\$9.00
My Everyday Book 1	\$3.00	2	\$6.00
My Maths Book 1 Alternating	\$3.00	1	\$3.00
1I5 Exercise Book	\$1.20	5	\$6.00
Pencils Staedtler Pacific	\$1.00	6	\$6.00
Jumbo Faber Castell Colouring Pencils	\$12.00	1	\$12.00
Ballpoint Pens - 1x Blue Pen & 1x Green Pen	\$0.70	2	\$1.40
Sharpie - 1x Fine Black & 1x Ultra Fine	\$3.50	2	\$7.00
Glue Stick	\$3.00	3	\$9.00
Pencil Sharpener	\$0.50	1	\$0.50
Rubber	\$0.90	1	\$0.90
Highlighter	\$2.00	1	\$2.00
Book Bag	\$5.00	1	\$5.00
PR1ME Textbook	\$25.00	1	\$25.00
Headphones (BYO Compulsory)		Subtotal	\$82.20
		TOTAL	\$



Middle School Stationery List - Room 4

Our Essential Whitikahu School Items	Cost	No. Required	TOTAL
Whitikahu School Sunhat	\$20.00	•	\$20.00
Bus Vest (bus students)	\$10.00		\$10.00
		Subtotal	\$
Room 1 Stationery Items			
My Literacy Book 3	\$3.00	3	\$9.00
1E8 Maths Book - with Margins	\$1.50	1	\$1.50
My Everyday Book 2	\$3.00	3	\$9.00
3B1 Notebook	\$0.50	2	\$1.00
L-Shaped Folder	\$1.00	1	\$1.00
Pencils Staedtler Pacific	\$1.00	8	\$8.00
Jumbo Colouring Pencils	\$12.00	1	\$12.00
Ballpoint Pens 2x Black, 2x Red, 2x Green Pen	\$0.70	6	\$4.20
Sharpie 1x Fine Black, 1x Ultra Fine Black	\$3.00	2	\$6.00
Rubber	\$0.90	2	\$1.80
Ruler	\$1.00	1	\$1.00
Scissors 7"	\$2.50	1	\$2.50
Glue Stick	\$3.00	3	\$9.00
Pencil Sharpner	\$0.50	1	\$0.50
Highlighter 4 Colours (Pack)	\$5.50	1	\$5.50
PR1ME Textbook	\$25.00	1	\$25.00
Headphones (BYO Compulsory)			
		Subtotal	\$97.00
		TOTAL	\$

Name:



Senior School Stationery List - Seniors

2024

Name: _____

Our Essential Whitikahu School Items	Cost	No. Required	TOTAL
Whitikahu School Sunhat	\$20.00		\$20.00
Bus Vest (bus students)	\$10.00		\$10.00
		Subtotal	\$
Room 4 Stationery Items			
My Literacy Book 3	\$3.00	3	\$9.00
1E5 Maths Book - with margins	\$1.00	1	\$1.00
My Everyday Book 2	\$3.00	3	\$9.00
3B1 Notebook	\$0.50	2	\$1.00
L-Shaped Folder	\$1.00	1	\$1.00
Pencils Staedtler Pacific	\$1.00	8	\$8.00
Jumbo Faber Castell Colouring Pencils	\$12.00	1	\$8.4.0
Ballpoint Pens - 4x Black Pen, 4x Green Pen, 4x Red Pen	\$0.70	12	\$2.10
Sharpie - 1x Fine Black & 1x Ultra Fine	\$3.50	2	\$7.00
Rubber	\$0.90	4	\$3.60
Ruler	\$1.00	1	\$1.00
Protractor	\$0.70	1	\$0.70
Compass	\$3.50	1	\$3.50
Scissors 7"	\$2.50	1	\$2.50
Glue Stick	\$3.00	3	\$9.00
Pencil Sharpener	\$0.50	1	\$0.50
Highlighter 4 Colours (Pack)	\$5.50	1	\$5.50
Correction Tape	\$3.00	1	\$3.00
PR1ME Textbook	\$25.00	1	\$25.00
		Sub Total	\$110.70
Morrinsville Technology - (Compulsory)			
Whitikahu Polo Shirt		1	\$25.00
Morrinsville Technology Fees (For Cooking only)		1	\$20.00
1B5 Exercise Book		1	\$1.00
10 page Clearfile		1	\$3.00
		Subtotal	\$49.00
		TOTAL	